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o = 2025381 | 20253 H =
- 1R 0 &ty ME2 2 9

& 2 = (A)
—=& 2TAH| 35,0003 %20 Al 2¢ 700,000 &
OFBOINSE AL
— 2ZAHEl 35,0003 * 16 A1 2Hx5EH %251 | 5,600,000 &
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—AFOIHHZ4TH A LMS 22 (AFOIHIZ4TH A) Dell R740 24! 5,400,000
—EIDICIOf M B (S AL ) DL380 241" 392,0002 * 12) 4,704,000 €
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—Ea o A S| K| IBM DS3512 241" 5220002 * 127 6,264,000 &
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—'HlOled A & X2l AIAE AZEAIZ R 24,500,000
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— 2 9IDNS(DHCP) S2DDS 2500 241" 777,0008 * 127} 9,324,000 &
—PCEO F oA ®A AIAE Comvoy PLUS' 583,000% 6,996,000 2
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® gAY (Us2S)
—S8, G4, T HHISXES 2,000,0008 %1042 20,000,000 &
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—SX 4 R4 M 5 + 1,700,000 8,500,000 2
@D4SEHLY BHXBAAL(CMS) RN 24
—SX B4 100HE * 1,400 000! 14,000,000 &
® APAXR AR
— I ADHBLIAI AL AFZR 72 18,000,0008 * 1 18,000,000 &
® OHFE DEAL Bl 1F
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— WLIEEI] 42/H] 9,000,0002 12012 108,000,000 &
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© ZOpsta A& KA
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@HZHIZRXN SIS 9IHE 1,500,000 13,500,000 &
© D ZEH 289 SI8 22 29 6674%100,0002 6,600,000 &
® TPOHRHAFAIAE SR 4 9IS *450,000 4,050,000 &
—0IE 2 &Y 248 L KXY 1,700,00081 %1242 20,400,000 &
® PEQIEY AP RXI 22 4,202,0002 4,202,000 &
® 258 ST 24 1242 * 715,0008 8,580,000 &
® UPS SXI24 12942 * 605,0002 7,260,000 &
® UPS stel2l Al 12,556,000 12,556,000 &
® QoS RX 24 124 * 572,0008 6,864,000 &
® MSHBYA S L AL HE(BURK2SL 22)
— 20| ¢ FRAY KX et 3,500,0008 <1242 42,000,000 &
— 220 Y =xHAH| EH 24| 3,500,000674 2 21,000,000 &
— WL 2LED| SN2l 13,000,00081+14) 13,000,000 &
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— WL )| 9 B R A=Y 7,500,0008 %1 3] 7,500,000 &
— JIH A AH| EH 244 1,100,0002+60HL 6,600,000
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— 9 XY QA 22IH| 200,000%1204 2,400,000 ¢
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—IIH D17 42 240,0002 %1242 2,880,000 ¢
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4213 1,251,500 1,151,500 100,000
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— A2/ B2EEF 10,000M *2,0008 20,000,000 &
— &C| 2| 5,000,000 5,000,000
— =312 72| 10,000,000 10,000,000 2
— A2€/4|72/H| 5,000,000 5,000,000
® SMET AL HA
— 29 AIEE B4 5,000,0008 *12)HE 60,000,000 &
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— =2 FI|FY A=2S2eY 22| 15,000,000 15,000,000 &
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—2E MAZX 29T HA BAH| 1,640ton*2,600! #2: 8,528,000 ¢
— HDI2 M2l 24| 1,100,0002%103] 11,000,000 2
— HIEQAYAILRR =& 10,000,0008 1 3] 10,000,000 2
—JIHEH HSEAH 2252 5HS 9,000,0002 xk 9,000,000 ¥
— DHDIBHE LA =3 24 AR 300,000 %1404 %23 8,400,000 ¢
— A=A B (B 5,000,000 5,000,000
— DU A 2B =5 A5HEH] 4,000,000 %23] 8,000,000 &
— T JIEFAIE 2+2] 22H| 1,500,0002 * 53] 7,500,000 &
® Al& 29 22| 150,000,000 «9I4 1,350,000,000
® OAEASE B
—Al2 21| 500,000,000 500,000,000 2
—0IZE FHIAEX, 24 L QI21H| 200,000 *301%53] 3,000,000 &
® AIEZAILZ2/(AE DAL BEI_AlE =)
— AYAIL QHEZIRIHE 2 550,000 %1274 6,600,000
— S AIJFA HI|Z A 200,000 %1 3] 200,000 &
— MAX U SYDL2 2E 2 A 200,000 23] 400,000 €
— DA ZIOIOFAHRCH (Y| OFEE 2 H| 2,000,000 2,000,000 &
— RHOITHLH CHEI OFEE 28] 1,500,000 *33] 4,500,000 €
— ¥N AS Y Yo 24| 360,000+53] 1,800,000 &
— X2l ®MIIAHH MI|OHM 22 S 600,000 %127 7,200,000 &
— FO|&H FIIZ A 2,000,0002 %1 4] 2,000,000 ¢
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— A MAIE JHAH ASEZZ 16,000,000 %14 16,000,000 &
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©® 2312 100,0008 %10 1,000,000 &
© AGHEEIIY 100,0009 %10 1,000,000 &
©® EOHBHA AlE )M
— SHOIZITE ALDHHAI R 25 440,0002 *4CH 1,760,000 &
© OIFB NSAlA B
— JFAAFDHH AR Q1 5 30,0002 370 A 90,000 &
— SAIAD Hé!ﬂ%'EgE 31,0009 +27CH 837,000 2
—REBEEANL EE 2 1,1008+3,500% 3,850,000 &
® DEANNTE 23000958002 18,400,000 &
® X2 28 22] 1,100,000 20 22,000,000 &
© 22LOSHAY 2 DAY HASZSS 1,200, 1,200,000 &
OEEE
—HBt =828 6,200,000+13] 6,200,000 2
—SXEABH BEE = 2,600,0008 2,600,000 2
@ E2H WEE=23/H £3-2-1 DAY SM=2T] X¢
—DSAIETHHDHE oA A 41,990,000 41,990,000 &
B 136,527,000 &
4217 31,558 30,669
AR E @HUFE LOHUAAL 22
—HHE O UAAL I AIRZ 616,000 * 12) 7,392,000 &
® 2lAgRtE
— 0N '526-469 5'L X ASHHEEEZ 2,800,000 2,800,000 &
— OLME '425-49 2'EX| (KESEE2 30,0008 30,000 €
— OLAIE '424-39] 1'E Xl IHE S HE2 30,0009 30,000 €
— OLA S *378-7"H1 X AI?L?XHMEH 2 70,0002 70,000 €
— WS NECEH BNE EX AFRE 880,0008 %122 10,560,000 &
— ABE511BIX- QX 410X AIZRTHAGSES 850,000 &
® xtel A2l 993,000 « 9 8,937,000 &
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—D025EH 2L THA IR 2(526-56H K| A5HA HE2) 8 889,000 &
&t 31,558,000 &
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— ABA HIIS M2t 1,000,0002 %1274 12,000,000 &
® S0 A& L AS 22| 11,000,000 902 99,000,000 &
® 3|94l Biet &4 22| 6,000,0008+23] 12,000,000 &
® SEAHAIAEY =} 4% 10,000,0002 10,000,000 &
® L% CCTV & QXX RAHI 25,000,0002 25,000,000 &
® SHAZ210IS 3,500,0002 *2 7,000,000 &
® #X™A S Z201E 72 7,000,0008 *2 14,000,000 &
—0ZE 23 ADZH| 180,0008%123] 2,160,000 &
® EH AHA S L AL HAOIEFAER2IH)
— YHYRE IHPY L B4H| 600,0008 +1 2742 7,200,000 &
— NE22HPE NP L 22| 800,0002 127, 9,600,000 &
— NE22I8 AE2AYI 1,500,00021 674 2 9,000,000 &
— HHEF JHHIE, 2K S MIE Xl 9,000,0008 13 9,000,000 &
— ZolA U AFRA HHE AR R eiH| 5,000,000 18] 5,000,000 2
— ZJIHIZE OHYI 3,000,0002 23] 6,000,000 2
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— 2t = HJI2X2lHl 1,100,0002 %1202 13,200,000 &
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OURBTAL SO &F
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— DA 4 X SHH B2 200,0002+803] 16,000,000 &
® 2RDEH HADBII2 ZZH| 3,100,00081 28 49,600,000 &
© 2N QD2 EF XA 100,0002 *5521x97) 2 49,500,000 &
® T8l S &It o8] X 1,000,000 x2024 20,000,000 &
® K_MoveA 2 A2 5,000,0002 33l 15,000,000 2
© HOHE CHSEA 5,000,0008%23] 10,000,000 &
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@0l n S|
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—2 8 2F 205,0002 * 6_8 A 0|2H NICHS A E 1,350,000 &
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—QI & Z& 100,0002 * 6_8 41 0|2H HICH S LA Ef 600,000 &
—& & Z& 206,0002  6_8 0|2l HICHS A E 1,236,000 2
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— DX X DEY| 20,0002 22 #45]_8 A At E 160,000 2
—21E ST WEH| 40,0002 %201% 120 _A &2 E 960,000 &
“EISNE BOleIE U8 S35 3 HOIL DK 20,0 300,000 &
—S&T 2 £ 80,2002+3%+535]_AlSt DS 1,203,000 &
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® EECINIALY
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® FEABHXHS
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@ 2 AyEESH HALUXZ 800,000*4*12| + 1,300,000 &
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© SExu=slt S0/ ER st W ESE EH| 60C 1,200,000 &
© S ZojeIEME 2 A2 IER & I AHH 400,000 &
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© Exus1 AerggE )2 @203 232 AL 500,000 &
©® RIS+ EFIAISERAIZ 200,000 +4H 1,000,000 &
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—XtEFCHO4H] 330,000+63] 1,980,000 &

61/97




o = 20255101 | 202531 QI
- 1R of Arod =W 2 o
& g = (A)
SR T IS (AP UE
—w W HEHl 100,000& 58! 500,000 &
—4IH[ 10,0003 10«58 500,000 &
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—HM2ZA ZAE 250,0008 %42 1,000,000 &
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—OIZ K AACHE AEH| 20,0008 %10 200,000 ¥
—3 20t JIZH| 50,0002+2% 100,000 &
© E2HSNSY EHH=RE
—TH3I =D DEH| 500,000 43 2,000,000 &
—CH3I Db ALCHH| 8,00080%16Z%103] 1,280,000 &
—CHBI & D} 2+AH] 1,000 %16 «43] 64,000 &
—TH3I 2D £8HH| 30,0002 6414 720,000 2
—8)|= 221 AlTHH| 8,0008 +16%+33] 384,000 ¢
—8J|= 21 2FAlH| 1,0008+16%+33] 48,000 2
—otstE 221 AlTHH| 8,0008 +16%+33] 384,000 ¢
—utstE 2@ 2HAIH| 1,0009%16Z+33] 48,000 2
©® E2NSDNSH T2 Y
—FOROIAHUASTHE 2SFAIR S 100,000 +15% 1,500,000 &
@ADY EACHMAIZ TS 20 T2 2 297, 467,000
—TAE Z2H| 50 M2 * 200,000 1,000,000 &
—AQEH| 404 M2*450,0009 +1JH S8HHZ+180,001 1,980,000 &
—0|2HE U OHHT =2H| 47 M2+250,0002E1 HSE 1,100,000 &
@FDY MASCINOIMAIG B AUHEY X2 9 867,000
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© CIEI2IOCIROIMZ L OIS UERAIZ 23]+1 Y24l 400,000 &
@ A2CIXOINE SEASEBAAS HAUXZ Al2L 1,800,000 &
® AACITIOINE SEASEB RS HAUXZ A 1,500,000 &
@ CIEIZIOCIKIOINE SR ASHEB RS HAAXZ | 800,000 &
© CIEI2IOICIRFOI M Z B A HEHE A28 2HAIH| +10 100,000 &
® DEO|AX SZERIALS 1 #2AI2Hx100,0008! 200,000 &
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© AZSANMD AYMOI=3
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—XH QAL 25% 8,000 200,000 2
—OIM2 (LAE) 400,000 400,000 2
® 22|
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—OIME (ZAFH, “EZ!E”) 750,000 750,000 &
—3l20! (SIS ZAHEES 130,000 130,000 &
_HBOE ACf 79x05]%7,0002! 98,000 &
® SAHE Eoi=3|
—OIM 2 (EAE, T8 1,200,000 1,200,000 &
—8l20! (SIS ZAHEES 130,000 130,000 &
_RBOE A} 79x35]+7,000%! 147,000 €
SXNEEZ HI|2o

—SHHIE 4,000,000 4,000,000 €
—Z% U 28R 4,000,000 4,000,000 €
—OJAb 9 AZ QR 2,940,000 2,940,000 &
—B 20 HSHEE 2 300,000 300,000 &
—oIME (EAE, T23) 1,000,000 1,000,000 &
© YRUZAH(SXZ S2H)
—oIM2 (Z28, TAH) 500,000 500,000 &
—28 2 ZHAX 1,400,000 1,400,000 &
® SXZ MEH
—oI2 (ZAF 2/Z3) 500,0008 500,000 &
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—= 0hH =6l 500,000 500,000 &
® MRARHAL ZOI(DIMF HEHAE S XIZH AEl2)
—S M= 4,000,0002 4,000,000 2
—9|4 Y A Z 3,000,0002 3,000,000 &
—AZ2UE X2 YR 40,0002 20H 800,000 &
—X2t2 24l L JIEHZHI 800,000 800,000 &
~HEREHI 30,000%102 %23 600,000 &
—S 2= H| 250,0008 %22 500,000 &
—S e ZH| 250,0002 %22 500,000 &
—ZI# Q2 =8| 60,0008 *7 A2 840,000 &
~Z# Q2 AT} 10,0002+60% *63] 3,600,000 &
—F# Q2 HAIH| 2,0008 %60 *33] 360,000 &
® ASSUHB EYAFS
~%J| QA AT 8,0002*5%+63] 240,000 &
~FJ| 2R AT 8,00081%5%H+183] 720,000 &
® ASSAHB 18] FIIBA(FET BH3)
—H22 ¥ S8 X8| 1,870,0008 1,870,000 2
—ZIS# Q2 AlD} 8,0008+252*23] 400,000 &
—H ATHZ Bl 600,0002 600,000 &

@ ASSATZ 28I FIIZA(HE A 0IL)

—MHR A AL 8,000&+252H 23] 400,000 &
—Z2g & 2538 ZXk 1,800,000 1,800,000 &
@ dESSqds gas JIY 39

—MHR A ALY 8,000&+9H +52[+28 | 720,000 &
©AESSAds &S STLM & S MH

-4 2 0/AHE HIE 1,500,000 1,500,000 &
—Sg¢ (RAHIOL) XAHl 3,000,000 3,000,000 #
@ HIM=ds A3

—CIME (EAH,Z2108) 200,000& 200,000 &
—AHIZd] 200,000 200,000 &
@ Di=ds FJI3d

—QCIME (ZAH,Z28) 2,000,000& 2,000,000 &
—ol& 2 AF 2,000,000 2,000,000 &
—S A 3,700,000 3,700,000 &
@ AD=ds 2SH

—OIME (ZAH ZZ208) 800,000 800,000 &
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—S M= 1,500,000 1,500,000 2
—9|&F 2 AE 1,300,000 1,300,000 2
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—S T M= 350,000%43] 1,400,000 &
—9| & Y AE 200,000%43] 800,000 &
@& S 127% 122,000,0002 122,000,000 2
®SHAZZDNUZSY
—AE0IELBHIOS 150%+130,0002 19,500,000 &
@ SHAEZD YRS
—A&0ISLFHIH0IS 1502 +130,0002 19,500,000 2
® 4y, +8 L MELYNCY DB 2Y
—AN&0I2LEEEEH S 602105000 6,300,000 &
® 2I0IZJIE D22

—1884%100,000
©QYIRE Y SSTHA DA=LSY
—1824+100,00024 1,800,000 &

@ OI2EHE2XNEAN DIAS2SF

i

1,800,000 &

—AN&E0lEL S &HIS 308+120,000& 3,600,000 #
© AZRI|=HD| | =29

—AlE0lZ22 120&+37,000& 4,440,000 &
© AZRI|I=AD|I =29

—AlE0lZ22 120&+37,000& 4,440,000 &
© SHAEZ=XEZOAN Wi=22Y

—AIE0IEXLEBIHNS 61E*130,000& 7,930,000 &
© AINANEY wi=s2g

—AIE0IEXLEBIHNS 20E*130,000& 2,600,000 #
© =HAEXNCY Dits2E

—AIE0IEXLEBIH{S 90 *130,000& 11,700,000 &
© AZAIH | WH=s2E

—AE0IEXLEBIHOS 158%200,000& 3,000,000 &
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@AZEO AHSR, 42/ S 52t 220,000,0008 220,000,000 &
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@ BEFEIASIIN 29
—ZJ| A&XEH 100,0008 * 20 2,000,000 &
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—QUP )4 B HAIS HIHHME L 320 H =
600,000 * 13 600,000 2
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